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540 + |9 =60 9 |x| 6 |=54 9x6x|10|=540

In the first calculation, the missing symbol can only be + as the answer is becoming smaller. If a multiplication symbol
was inserted into this calculation, the answer would become greater (44360). In the second calculation, the missing
numbers can only be 4 and & but may be in any order. In the last calculation, children are required to recognise that the
missing number must be 10, as 54 x 10 = 540,
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700 x 9 = 63000 is the odd one out because the answer is incorrect. The answer should be 6300.
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